[bookmark: _GoBack]Preparation for Quiz 6 (System of 1st Order LDE)

1. Find  the Wronskian of the vector functions  [image: ] and [image: ]	(Ans: [image: ] )
2. If the characteristic equation of [image: ] is [image: ], then find the general solution of the system X’ = AX.						Ans. [image: ]

3. Find the characteristic equation of  [image: ].		Ans: [image: ].
4. If the characteristic equation of  [image: ] is  [image: ], find its roots. Ans: 2,2,3.
5. If the eigenvalues of [image: ] are 2,2,3, find the general solution of X’ = AX.
Ans. [image: ].

		
6. Find the eigenvalues of [image: ].		Ans. [image: ].

7. If the eigenvalues of [image: ] are [image: ], find the eigenvectors of A.  Ans. .

8. If the eigenvalues of [image: ] are [image: ], find the two linearly independent solutions of  X’ = AX.

  				Ans. .



9. If  are two fundamental solutions of the system[image: ], find a particular solution of the system.   Ans. 

10. Let [image: ]. Show that [image: ][image: ].
11. Let [image: ]. Show that [image: ][image: ]
12. Using matrix exponential, find the general solution of the Linear system X’ = AX where

       [image: ].			Ans. 


13. Find the solution of the IVP X’ = AX , 


       .Hint: 			Ans. 


14. Using matrix exponential, , find a particular solution of  X’ = AX + F  where .

										Ans. 
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